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p.7T 1mol-8,31 ) 603K
y=2" f; I _ 100 0515]15\-1 =0,05m? =50 dm?

V =50dm?
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V, = 200 cm?

m, =100g

=200g—100g=100g

m, =300g —100g = 200g

m, = 350g —100g—100g=150g
V, =150 cm?

Vi,=V,—V,=200cm?—150cm?’ = 50 cm?
my, 100 g . 8

d=—7-=— =2
Vi 50 cm? cm?
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5 km

11.2 km




[
p—
"
ey
_
—.._
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C, 3
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Q=C-U=4,7-107C

Q=4,7-1073C

I, =m:-R?
d = 2R

I,=mR2+m-(2R)* = 5- mR2

I=1,+3I,=mR*+3:5-mR* =16 -mR*




R? ~n

[ =16 -mR*

J?’I")I,J— — '(j . U,
2n-q-U-m
2 R q B
7] UM 7) -
R = q B 1, R 1,
E=nqU = mﬂ-}r,;_




R?~n,toR ~ /mn,

658 nm



E=—3,4eV—-(—13,6eV)=10,2¢eV.
E=16,32-10""

h-c

A; = E = 1,22-1077m = 122 nm
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1-sin45° = 1,414 - sinf
"lr' — 300

Y =90°— 5 = 60°
1,414 - sin60° = n, - sin45°

n, =1,73.
n,=1,73
B =30° 7 =60° 45°,

B =30°




n, = 1,601
n, = 1,414

1,601 sina,, = 1,414 - sin 90°,
sina,, = 0,883

sin60° = 0,866 sin 65° = 0,9063.

0,883 — 0,866
0,9063 — 0,866

19 |

°=2,1°=2° @ gr = 60° +2° = 62°

=)0
@ g = 62

sin QA = 0,883 60°, 65°
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